

(1) Preliminary Bid Amount (2) Unit Price Detail				Engine	eer's Estimate	Con	nvironmental struction, Inc. 5,397,430.00	(2) Kiewit Infra	structure West Company \$5,785,200.00		3) MMC, Inc. 5,840,180.00		Construction ompany, Inc. 6,625,000.00
		•											
Item	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	4	\$500.00	MTH	\$2,000.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	\$75,000.00	\$75,000.00
5	IMPLEMENTATION OF BMPS	1	\$20,000.00	LS	\$20,000.00	\$45,000.00	\$45,000.00	\$54,000.00	\$54,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
6	PREPARATION OF THE NOISE MITIGATION PLAN (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
7	CONSTRUCTION OF TEMPORARY SOUND BARRIER	60	\$150.00	LF	\$9,000.00	\$250.00	\$15,000.00	\$250.00	\$15,000.00	\$200.00	\$12,000.00	\$900.00	\$54,000.00
8	MAINTENANCE OF TEMPORARY SOUND BARRIER	60	\$35.00	LF	\$2,100.00	\$30.00	\$1,800.00	\$110.00	\$6,600.00	\$100.00	\$6,000.00	\$150.00	\$9,000.00
9	REMOVAL OF TEMPORARY SOUND BARRIER	60	\$20.00	LF	\$1,200.00	\$120.00	\$7,200.00	\$180.00	\$10,800.00	\$100.00	\$6,000.00	\$200.00	\$12,000.00
10	PREPARATION OF THE COFFERDAM DEWATERING	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00

Engineer's Estimate (1) Environmental (2) Kiewit Infrastructure West (3) MMC, Inc. (4) W. A. Rasic Construction Construction. Inc. Company Company, Inc. \$5,785,200.00 \$6,625,000.00 (1) Preliminary Bid Amount \$5,397,430.00 \$5,840,180.00 (2) Unit Price Detail Item Description Qty Unit Price Unit Amount Unit Price Amount Unit Price Amount Unit Price Amount Unit Price Amount PLAN (STIPULATED UNIT PRICE OF \$5,000) \$1.00 \$25,000.00 \$1.00 \$25.000.00 \$25,000.00 \$1.00 \$25.000.00 \$1.00 AL \$25,000.00 \$1.00 11 CITY PERMIT AND 25000 **INSPECTION FEES** (ALLOWANCE OF \$25,000) \$2.500.00 \$2,500.00 \$2.500.00 \$2,500.00 \$2.500.00 \$2.500.00 \$2.500.00 \$2.500.00 \$2.500.00 \$2.500.00 12 PREPARATION OF THE SPILL LS 1 PREVENTION AND CONTROL PLAN (STIPULATED UNIT PRICE OF \$2,500) \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 13 PREPARATION OF SITE-1 LS \$10,000.00 SPECIFIC HEALTH AND SAFETY PLAN (STIPULATED UNIT PRICE OF \$10,000) \$50,000.00 \$15,000.00 \$15,000.00 \$2,000.00 \$2,000.00 \$30,000.00 \$30,000.00 \$10,000.00 \$50,000.00 LS \$10,000.00 14 IMPLEMENTATION OF THE 1 SITE-SPECIFIC HEALTH AND SAFETY PLAN \$2.500.00 LS \$2,500.00 \$2,500.00 \$2.500.00 \$2.500.00 \$2,500.00 \$2.500.00 \$2.500.00 \$2,500.00 \$2.500.00 PREPARATION OF TWW 15 1 WORKPLAN (STIPULATED UNIT PRICE OF \$2,500) \$5,000.00 \$55,780.00 \$55,780.00 \$6,000.00 \$6,000.00 \$30,000.00 \$30,000.00 \$5,000.00 \$5,000.00 16 TRANSPORTATION AND \$5,000.00 LS 1 DISPOSAL OF TREATED WOOD WASTE \$3,000.00 \$3.000.00 \$3.000.00 \$3.000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3.000.00 \$3.000.00 \$3.000.00 PREPARATION OF THE SITE-LS 17 1 SPECIFIC LEAD COMPLIANCE PLAN (STIPULATED UNIT PRICE OF \$3,000) \$5.000.00 \$5.000.00 \$6.000.00 \$6.000.00 \$15.000.00 \$15.000.00 \$30.000.00 \$30.000.00 \$1.500.00 \$1.500.00 18 IMPLEMENTATION OF THE LS 1 SITE-SPECIFIC LEAD COMPLIANCE PLAN REMOVAL AND DISPOSAL \$2,500.00 LS \$2,500.00 \$11,000.00 \$11.000.00 \$10,000.00 \$10,000.00 \$50,000.00 \$50,000.00 \$40,000.00 \$40.000.00 19 1 OF LBP/LCP \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 PREPARATION OF THE SITE-LS 20 1 SPECIFIC ASBESTOS

Addenda: 3

Duration: 0 Day(s)

Engineer's Estimate (1) Environmental (2) Kiewit Infrastructure West (3) MMC, Inc. (4) W. A. Rasic Construction Construction. Inc. Company Company, Inc. \$5,785,200.00 \$6,625,000.00 (1) Preliminary Bid Amount \$5,397,430.00 \$5,840,180.00 (2) Unit Price Detail Item Description Qty Unit Price Unit Amount Unit Price Amount Unit Price Amount Unit Price Amount Unit Price Amount ABATEMENT PLAN (STIPULATED UNIT PRICE OF \$3.000) IMPLEMENTATION OF THE 21 \$5,000.00 LS \$5,000.00 \$5,500.00 \$5,500.00 \$15,000.00 \$15,000.00 \$15,000.00 \$15,000.00 \$5,000.00 \$5,000.00 1 SITE-SPECIFIC ASBESTOS ABATEMENT PLAN \$1.000.00 \$1.000.00 \$18.030.00 \$18.030.00 \$20.000.00 \$20.000.00 \$50.000.00 \$50.000.00 \$25.000.00 \$25.000.00 LS 22 REMOVAL AND DISPOSAL 1 OF ASBESTOS-CONTAINING MATERIAL \$933,846.00 \$933,846.00 23 SHORING OF OPEN \$85,000.00 LS \$85,000.00 \$20,000.00 \$20,000.00 \$62,000.00 \$62,000.00 \$200,000.00 \$200,000.00 1 **EXCAVATIONS** \$8,000.00 \$32.000.00 \$3,500.00 \$14,000.00 \$38,825.00 \$155.300.00 \$20,000.00 \$80.000.00 \$30,000.00 \$120,000.00 **OFFICE FACILITIES** MTH 24 4 \$323,600.00 \$323,600.00 \$570.000.00 \$570.000.00 \$250.000.00 \$250.000.00 \$600.000.00 \$600.000.00 25 MOBILIZATION \$477,000.00 LS \$477,000.00 1 \$1,600.00 \$1.600.00 \$3.600.00 \$3.600.00 \$2.000.00 \$2.000.00 \$100,000.00 \$100,000.00 \$15,000.00 \$15,000.00 FRP GRATING LS 26 \$10,000.00 \$8,400.00 \$8,400.00 \$41,000.00 \$41,000.00 \$6,000.00 \$6,000.00 \$100,000.00 \$100,000.00 \$10,000.00 27 TOILET. WALL MOUNTED 1 LS CORNER SINK, AND ACCESSORIES \$200.00 \$33,800.00 \$200.00 \$33,800.00 \$400.00 \$67,600.00 \$338,000.00 28 UNCLASSIFIED EXCAVATION 169 \$160.00 CY \$27,040.00 \$2,000.00 169 \$110.00 CY \$18,590.00 \$75.00 \$12,675.00 \$400.00 \$67,600.00 \$400.00 \$67,600.00 \$200.00 \$33,800.00 29 UNCLASSIFIED FILL \$320.00 \$17.280.00 \$265.00 \$14.310.00 \$1.100.00 \$59,400.00 \$300.00 \$16.200.00 \$2.000.00 \$108.000.00 54 CY 30 STRUCTURE EXCAVATION \$300.00 \$200.00 \$7.200.00 STRUCTURE BACKFILL 36 \$370.00 CY \$13.320.00 \$125.00 \$4.500.00 \$1.000.00 \$36.000.00 \$10,800.00 31 CONSTRUCT AND REMOVE \$1,639,519.00 \$1.690.000.00 \$950.000.00 \$950.000.00 \$750.000.00 32 \$794,000.00 EA \$794.000.00 \$1,639,519.00 \$1,690,000.00 \$750,000.00 COFFERDAM \$2,500.00 \$57,500.00 \$6,722.00 \$154,606.00 \$8,000.00 \$184,000.00 \$6,000.00 \$138,000.00 \$9,000.00 \$207,000.00 33 STRUCTURE CONCRETE 23 CY \$43,470.00 \$5.30 LB \$32,913.00 \$8.50 \$52,785.00 \$12.00 \$74,520.00 \$10.00 \$62,100.00 \$7.00 BAR REINFORCING STEEL 6210 34 (EPOXY-COATED) \$70,400.00 \$215.00 LF \$18,920.00 \$150.00 \$13,200.00 \$63.00 \$5,544.00 \$500.00 \$44,000.00 \$800.00 35 DRILL AND BOND DOWEL 88 (EPOXY CARTRIDGE) \$100,000.00 \$37,000.00 \$37,000.00 \$500.00 \$500.00 \$2,000.00 \$2,000.00 \$100.000.00 \$2,000.00 \$2,000.00 36 MASONRY GROUT 1 LS STRUCTURAL STEEL 13588 \$11.00 LB \$149.468.00 \$16.50 \$224.202.00 \$14.00 \$190.232.00 \$30.00 \$407.640.00 \$18.00 \$244.584.00 37 \$2.800.00 \$2.800.00 \$1.800.00 \$1.000.00 \$10.000.00 \$20.000.00 \$20.000.00 38 EXHAUST PIPE SUPPORT LS \$1.800.00 \$1.000.00 \$10.000.00 \$3,808.00 \$272.00 \$36,992.00 \$114.00 \$15,504.00 \$500.00 \$68,000.00 \$400.00 \$54,400.00 39 MISCELLANEOUS METAL 136 \$28.00 LB \$3,100.00 \$12,400.00 \$3,100.00 \$12,400.00 \$250.00 \$1,000.00 \$2,000.00 \$8,000.00 \$5,000.00 \$20,000.00 40 WARNING SIGN MOUNTING FΑ 4 FRAME

Addenda: 3

Duration: 0 Day(s)

Project Name: Project No 450 - Alamitos Bay Pump Station - Discharge Line Replacement Project ID: FCC0001218

Bids Opened: 6/20/2023 Project Manager: Haitham Ali 626-458-3110

(1) Preliminary Bid Amount				Engine	eer's Estimate	Con	Construction, Inc.		Company				Company, Inc.
(1) Preliminary Bid Amount					9	\$5,397,430.00	\$5,785,200.00 \$5,840,18				0 \$6,625,000.00		
(2) Un	it Price Detail												
<u>Item</u>	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
41	DOORS, WINDOWS AND	1	\$29,000.00	LS	\$29,000.00	\$114,955.00	\$114,955.00	\$74,000.00	\$74,000.00	\$100,000.00	\$100,000.00	\$90,000.00	\$90,000.00
	LOUVERS												
42	CEILING MOUNTED BRIDGE	1	\$91,000.00	LS	\$91,000.00	\$74,344.00	\$74,344.00	\$114,000.00	\$114,000.00	\$50,000.00	\$50,000.00	\$125,000.00	\$125,000.00
	CRANE												
43	EQUIPMENT ROOF HATCH	3	\$6,300.00	EA	\$18,900.00	\$15,000.00	\$45,000.00	\$16,700.00	\$50,100.00	\$30,000.00	\$90,000.00	\$45,000.00	\$135,000.00
44	STEEL ROOF DECK	1	\$59,000.00	LS	\$59,000.00	\$85,781.00	\$85,781.00	\$25,000.00	\$25,000.00	\$70,000.00	\$70,000.00	\$145,000.00	\$145,000.00
45	STEEL ROOF PANEL	1	\$11,000.00	LS	\$11,000.00	\$107,549.00	\$107,549.00	\$140,000.00	\$140,000.00	\$70,000.00	\$70,000.00	\$175,000.00	\$175,000.00
46	NON-STRUCTURAL	1	\$34,000.00	LS	\$34,000.00	\$30,360.00	\$30,360.00	\$59,000.00	\$59,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
	FINISHING												
47	TEMPORARY BOATYARD	1	\$100,000.00	LS	\$100,000.00	\$67,580.00	\$67,580.00	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
48	METAL BAR GRATING	1	\$1,600.00	LS	\$1,600.00	\$10,240.00	\$10,240.00	\$1,000.00	\$1,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
49	ROOF EXHAUST FAN	1	\$2,450.00	LS	\$2,450.00	\$35,200.00	\$35,200.00	\$75,000.00	\$75,000.00	\$20,000.00	\$20,000.00	\$17,000.00	\$17,000.00
50	STEEL PILES	36360	\$3.90	LB	\$141,804.00	\$4.50	\$163,620.00	\$5.00	\$181,800.00	\$9.00	\$327,240.00	\$5.00	\$181,800.00
51	HDPE PIPES	1	\$247,000.00	LS	\$247,000.00	\$248,271.00	\$248,271.00	\$250,000.00	\$250,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00
52	STEEL PIPE MANIFOLD	1	\$209,000.00	LS	\$209,000.00	\$134,000.00	\$134,000.00	\$234,000.00	\$234,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
53	RUBBER FLAPPER SWING	1	\$217,000.00	LS	\$217,000.00	\$316,000.00	\$316,000.00	\$203,000.00	\$203,000.00	\$300,000.00	\$300,000.00	\$175,000.00	\$175,000.00
	CHECK VALVES												
54	RESTRAINED FLANGE	1	\$32,600.00	LS	\$32,600.00	\$56,400.00	\$56,400.00	\$3,000.00	\$3,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
	COUPLING ADAPTERS												
55	6-INCH DIAMETER KNIFE	1	\$30,200.00	LS	\$30,200.00	\$8,163.00	\$8,163.00	\$2,000.00	\$2,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
	GATE VALVE												
56	OUTLET STRUCTURE	1	\$31,000.00	LS	\$31,000.00	\$154,055.00	\$154,055.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00
	WARNING SIGN LIGHTING												
57	REFURBISH EXISTING	1	\$16,000.00	LS	\$16,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	LOUVERS AND												
	ENCLOSURES												
58	PAINT PUMP STATION	1	\$16,000.00	LS	\$16,000.00	\$15,120.00	\$15,120.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$20,000.00	\$20,000.00
	EXTERIOR WALL												
59	DISCHARGE STRUCTURE	1	\$61,000.00	LS	\$61,000.00	\$36,360.00	\$36,360.00	\$120,000.00	\$120,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
	REMOVAL												
60	STEEL PIPES REMOVAL	1	\$72,000.00	LS	\$72,000.00	\$39,850.00	\$39,850.00	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
61	PUMP STATION REMOVAL (PORTION)	1	\$43,000.00	LS	\$43,000.00	\$43,000.00	\$43,000.00	\$120,000.00	\$120,000.00	\$70,000.00	\$70,000.00	\$15,000.00	\$15,000.00

			Engine	eer's Estimate	()	(1) Environmental Construction, Inc.		Company		(3) MMC, Inc.	(4) W. A. Rasi	c Construction Company, Inc.
(1) Preliminary Bid Amount						\$5,397,430.00		\$5,785,200.00	:	\$5,840,180.00		\$6,625,000.00
(2) Unit Price Detail												
Item Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
62 PUMP STATION FLOOR	1	\$35,000.00	LS	\$35,000.00	\$4,500.00	\$4,500.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$5,500.00	\$5,500.00
REMOVAL (PORTION)												
63 ELECTRICAL WORK	1	\$136,000.00	LS	\$136,000.00	\$527,783.00	\$527,783.00	\$300,000.00	\$300,000.00	\$450,000.00	\$450,000.00	\$650,000.00	\$650,000.00
64 TRAFFIC CONTROL	1	\$105,000.00	LS	\$105,000.00	\$196,500.00	\$196,500.00	\$95,000.00	\$95,000.00	\$70,000.00	\$70,000.00	\$25,000.00	\$25,000.00
Unit Price Total			0,	\$3,698,393.00		\$5,397,430.00	:	\$5,785,200.00	;	\$5,840,180.00		\$6,625,000.00
(3) LSBE/DVBE/SE Preference Amount						\$150,000.00		\$0.00	\$0.00		0 \$	
(4) LSBE/DVBE/SE Adjusted Amount						\$5,247,430.00	\$5,785,200.00 \$5,840,180.00					\$6,625,000.00
Comments					APPARENT	LOW BIDDER						



Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name:Project No 450 - Alamitos Bay Pump Station - Discharge Line ReplacementProject ID:FCC0001218Bids Opened:6/20/2023Project Manager:Haitham Ali 626-458-3110

				Engine	eer's Estimate	CONSTRUCTIO	N SERVICES						
. ,	liminary Bid Amount			6,831,520.00									
• •	t Price Detail												
<u>Item</u>	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	4	\$500.00		\$2,000.00	\$500.00	\$2,000.00						
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00						
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$50,000.00	\$50,000.00						
5	IMPLEMENTATION OF BMPS	1	\$20,000.00	LS	\$20,000.00	\$50,000.00	\$50,000.00						
6	PREPARATION OF THE NOISE MITIGATION PLAN (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
7	CONSTRUCTION OF TEMPORARY SOUND BARRIER	60	\$150.00	LF	\$9,000.00	\$300.00	\$18,000.00						
8	MAINTENANCE OF TEMPORARY SOUND BARRIER	60	\$35.00	LF	\$2,100.00	\$100.00	\$6,000.00						
9	REMOVAL OF TEMPORARY SOUND BARRIER	60	\$20.00	LF	\$1,200.00	\$100.00	\$6,000.00						
10	PREPARATION OF THE COFFERDAM DEWATERING	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00						

				Lingine		CONSTRUCTION							
(1) Pre	liminary Bid Amount					\$	6,831,520.00						
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
	PLAN (STIPULATED UNIT PRICE OF \$5,000)												
11	CITY PERMIT AND INSPECTION FEES (ALLOWANCE OF \$25,000)	25000	\$1.00	AL	\$25,000.00	\$1.00	\$25,000.00						
12	PREPARATION OF THE SPILL PREVENTION AND CONTROL PLAN (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
13	PREPARATION OF SITE- SPECIFIC HEALTH AND SAFETY PLAN (STIPULATED UNIT PRICE OF \$10,000)	1	\$10,000.00	LS	\$10,000.00	\$10,000.00	\$10,000.00						
14	IMPLEMENTATION OF THE SITE-SPECIFIC HEALTH AND SAFETY PLAN	1	\$50,000.00	LS	\$50,000.00	\$50,000.00	\$50,000.00						
15	PREPARATION OF TWW WORKPLAN (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
16	TRANSPORTATION AND DISPOSAL OF TREATED WOOD WASTE	1	\$5,000.00	LS	\$5,000.00	\$75,000.00	\$75,000.00						
17	PREPARATION OF THE SITE- SPECIFIC LEAD COMPLIANCE PLAN (STIPULATED UNIT PRICE OF \$3,000)	1	\$3,000.00	LS	\$3,000.00	\$3,000.00	\$3,000.00						
18	IMPLEMENTATION OF THE SITE-SPECIFIC LEAD COMPLIANCE PLAN	1	\$5,000.00	LS	\$5,000.00	\$50,000.00	\$50,000.00						
19	REMOVAL AND DISPOSAL OF LBP/LCP	1	\$2,500.00	LS	\$2,500.00	\$75,000.00	\$75,000.00						
20	PREPARATION OF THE SITE- SPECIFIC ASBESTOS ABATEMENT PLAN	1	\$3,000.00	LS	\$3,000.00	\$3,000.00	\$3,000.00						

Engineer's Estimate (5) NATIONWIDE GENERAL

(1) Prelimina	ary Bid Amount						CONSTRUCTION SERVICES											
						\$	6,831,520.00											
(2) Unit Price	e Detail																	
	scription	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>					
(ST	IPULATED UNIT PRICE OF																	
	000)																	
	PLEMENTATION OF THE	1	\$5,000.00	LS	\$5,000.00	\$50,000.00	\$50,000.00											
	E-SPECIFIC ASBESTOS																	
	ATEMENT PLAN	<u> </u>			<u> </u>													
	MOVAL AND DISPOSAL OF	1	\$1,000.00	LS	\$1,000.00	\$75,000.00	\$75,000.00											
	BESTOS-CONTAINING																	
	TERIAL ORING OF OPEN	1	\$85,000.00	LS	\$85,000.00	\$350,000.00	\$350,000.00											
	CAVATIONS	I	φ00,000.00	LO	<i>400,000.00</i>	<i>\\</i> 000,000.00	\$550,000.00											
	FICE FACILITIES	4	\$8,000.00	MTH	\$32,000.00	\$2,500.00	\$10,000.00											
	BILIZATION	1	\$477,000.00	LS	\$477,000.00	\$200,000.00	\$200,000.00											
	P GRATING	1	\$1,600.00	LS	\$1,600.00	\$80,000.00	\$80,000.00											
27 TOI	ILET, WALL MOUNTED	1	\$8,400.00	LS	\$8,400.00	\$10,000.00	\$10,000.00											
	RNER SINK, AND																	
	CESSORIES																	
	CLASSIFIED EXCAVATION	169	\$160.00	CY	\$27,040.00	\$200.00	\$33,800.00											
	CLASSIFIED FILL	169	\$110.00	CY	\$18,590.00	\$200.00	\$33,800.00											
	RUCTURE EXCAVATION	54	\$320.00	CY	\$17,280.00	\$200.00	\$10,800.00											
	RUCTURE BACKFILL	36	\$370.00	CY	\$13,320.00	\$200.00	\$7,200.00											
	NSTRUCT AND REMOVE	1	\$794,000.00	EA	\$794,000.00	\$816,000.00	\$816,000.00											
		00	\$2,500.00		\$57,500.00	\$2,000.00	\$46,000.00											
	RUCTURE CONCRETE R REINFORCING STEEL	<u>23</u> 6210	\$2,500.00	CY LB	\$32,913.00	\$2,000.00	\$40,000.00											
	POXY-COATED)	6210	φ5.50	LB	\$32,915.00	\$50.00	\$510,500.00											
	ILL AND BOND DOWEL	88	\$215.00	LF	\$18,920.00	\$200.00	\$17,600.00											
	POXY CARTRIDGE)	00	+	L1	+ ,		+,											
	SONRY GROUT	1	\$37,000.00	LS	\$37,000.00	\$20,000.00	\$20,000.00											
	RUCTURAL STEEL	13588	\$11.00	LB	\$149,468.00	\$45.00	\$611,460.00											
	HAUST PIPE SUPPORT	1	\$2,800.00	LS	\$2,800.00	\$10,000.00	\$10,000.00											
	SCELLANEOUS METAL	136	\$28.00	LB	\$3,808.00	\$35.00	\$4,760.00											
	RNING SIGN MOUNTING	4	\$3,100.00	EA	\$12,400.00	\$2,000.00	\$8,000.00											
FRA	AME																	

Engineer's Estimate (5) NATIONWIDE GENERAL

(1) Preliminary Bid Amount \$6,831,520.00													
(2) Uni	t Price Detail												
Item	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
41	DOORS, WINDOWS AND	1	\$29,000.00	LS	\$29,000.00	\$300,000.00	\$300,000.00						
	LOUVERS												
42	CEILING MOUNTED BRIDGE	1	\$91,000.00	LS	\$91,000.00	\$114,000.00	\$114,000.00						
	CRANE												
43	EQUIPMENT ROOF HATCH	3	\$6,300.00	EA	\$18,900.00	\$3,000.00	\$9,000.00						
44	STEEL ROOF DECK	1	\$59,000.00	LS	\$59,000.00	\$220,000.00	\$220,000.00						
45	STEEL ROOF PANEL	1	\$11,000.00	LS	\$11,000.00	\$350,000.00	\$350,000.00						
46	NON-STRUCTURAL FINISHING	1	\$34,000.00	LS	\$34,000.00	\$210,000.00	\$210,000.00						
47	TEMPORARY BOATYARD	1	\$100,000.00	LS	\$100,000.00	\$75,000.00	\$75,000.00						
48	METAL BAR GRATING	1	\$1,600.00	LS	\$1,600.00	\$20,000.00	\$20,000.00						
49	ROOF EXHAUST FAN	1	\$2,450.00	LS	\$2,450.00	\$15,000.00	\$15,000.00						
50	STEEL PILES	36360	\$3.90	LB	\$141,804.00	\$10.00	\$363,600.00						
51	HDPE PIPES	1	\$247,000.00	LS	\$247,000.00	\$192,000.00	\$192,000.00						
52	STEEL PIPE MANIFOLD	1	\$209,000.00	LS	\$209,000.00	\$20,000.00	\$20,000.00						
53	RUBBER FLAPPER SWING	1	\$217,000.00	LS	\$217,000.00	\$192,000.00	\$192,000.00						
	CHECK VALVES												
54	RESTRAINED FLANGE	1	\$32,600.00	LS	\$32,600.00	\$270,000.00	\$270,000.00						
	COUPLING ADAPTERS		<u> </u>		* ***	<u> </u>	<u> </u>						
55	6-INCH DIAMETER KNIFE GATE	1	\$30,200.00	LS	\$30,200.00	\$20,000.00	\$20,000.00						
		4	\$31,000.00	1.0	¢21.000.00	\$40,000.00	\$40,000.00						
56		1	\$31,000.00	LS	\$31,000.00	\$40,000.00	\$40,000.00						
57	WARNING SIGN LIGHTING REFURBISH EXISTING	1	\$16,000.00	LS	\$16,000.00	\$15,000.00	\$15,000.00						
57	LOUVERS AND ENCLOSURES	I	\$10,000.00	LS	\$10,000.00	φ13,000.00	φ13,000.00						
58	PAINT PUMP STATION	1	\$16,000.00	LS	\$16,000.00	\$20,000.00	\$20,000.00						
50	EXTERIOR WALL	1	<i></i>	LO	φ10,000.00	φ20,000.00	φ20,000.00						
59	DISCHARGE STRUCTURE	1	\$61,000.00	LS	\$61,000.00	\$192,000.00	\$192,000.00						
00	REMOVAL		+,	LO	+,	+ ,	<i>,</i> ,						
60	STEEL PIPES REMOVAL	1	\$72,000.00	LS	\$72,000.00	\$60,000.00	\$60,000.00						
61	PUMP STATION REMOVAL	1	\$43,000.00	LS	\$43,000.00	\$40,000.00	\$40,000.00						
01	(PORTION)	I		20	• • •	. ,	• • •						
62	PUMP STATION FLOOR	1	\$35,000.00	LS	\$35,000.00	\$750,000.00	\$750,000.00						
-	REMOVAL (PORTION)			-									
63	ELECTRICAL WORK	1	\$136,000.00	LS	\$136,000.00	\$120,000.00	\$120,000.00				1		

Engineer's Estimate (5) NATIONWIDE GENERAL

			Engin	eer's Estimate	(5) NATIONW CONSTRUCTION	IDE GENERAL						
(1) Preliminary Bid Amount						\$6,831,520.00						
(2) Unit Price Detail												
Item Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
64 TRAFFIC CONTROL	1	\$105,000.00	LS	\$105,000.00	\$80,000.00	\$80,000.00						
Unit Price Total			:	\$3,698,393.00		\$6,831,520.00						
(3) LSBE/DVBE/SE Preference Amount						\$0.00						
(4) LSBE/DVBE/SE Adjusted Amount						\$6,831,520.00						
Comments					NON	RESPONSIVE						

Addenda: 3

Duration: 0 Day(s)